i) LYl zeliall 2Bge (o calall s AMiamat T Ss

Calad) & I sl = il & el ol & a5l LY zalisll & zoliall 234

Shukla Mukesh : . jaal) cul 1 17:21:14 2023-11-10 : zabiad] 2850 (e aladl i 50l

ol ) sl aall) i 423 aall dno N dy i)

&l dalll dyliel daxl ye 1
zap ozl (g el gl Z3gal 2
Lai s pasdl g o) ISl z3gas 3
dulil] Baxodl (e dulbxiel colyjas 4
Jo3l alall Lay, Reveal il (IS 5



https://almanahj.com/ae/id=23167
https://almanahj.com/ae/5math1
https://almanahj.com/ae/5math
https://almanahj.com/ae/5
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade5uae
https://www.facebook.com/grade5uae
http://bit.ly/2VZx9QS
https://t.me/almanahj_bot
https://bit.ly/2P4TZpo
https://bit.ly/3fgXrYC
https://bit.ly/3snNDQe
https://bit.ly/3lSQBKm
https://almanahj.com/ae/id=23165
https://almanahj.com/ae/id=23061
https://almanahj.com/ae/id=23051
https://almanahj.com/ae/id=22663
https://almanahj.com/ae/id=22526
http://www.tcpdf.org

e

Al Sadaraschobbol -
EOTH Goveragege -
GRADEAIE 5




mcadasmic Year

20ZIFS 20z
P PR P
Tarm
ES
L
Subject Feiathematics, Rewvaal
Ealam e syl Sl
Grade
=
P |
Sthreamm memeral
i P =
raumiber of rec =
s gl ge M S0 AW 2
Miarks of CO A4
Hasguiagall 308 o Ao
Pumiber of FRO 5
A, MGa Aot s
Marks per FROU (7-10})

ERE RO LI, TP RS

Typ=e of all Questions

MCOY Bus gok gt Aliocha

Bln AN AR gt

FROL, SaEa M Sl i

Maximum Cverall Grade
A35leall g gl Ayl

Exam Daaraticm - Jioca5i Ela

150 mimutes

vicde of Implementation -, Sadacl 38, Paper-Based
Caloulator Mot allowead

byl 1Y

i . i
i e SRS

] Q-‘-«-L:" D-‘-:—Lw-}

e a . rall 4 -
JA—J//,Q-. R, W



(8-10) Page :44

a) Find the volume of rectangular
prisms using formulas.

10.

L

8. A freezer, shaped like a rectangular prism, is 6 feet long,

. An Olympic swimming pool is 2 mtla_lters

2 feet wide, and 3 feﬁt tall. What is the volume of the freezer?
W
V=LxWxH
=6x2x3
= 36 ft*

deep. What is the volume of the
swimming pool?
ap V=LxWxH
25x50x 2
2500 m®

Extend Your Thinking Do you agree or disagree with this
statement? Justify your reasoning. When the edge lengths of a

rectangular prism are doubled, the volume is also doubled.

Disagree , When the edges lengths are doubled the volume is 8 times as much
because2x2x2=8

1 b) Find the volume of composite (4-5) Page :49
figures.
Draw line(s) to show how you decomposed the figure.
What is the volume of the figure?
4. icm S. 6 m
4cm 2cm
10 m
Vi= LX W x H Vo= LXW X Hlv _ L x Wx H SM V= LxWxH
_3x2x4 2em =2x2x2 | "Cax4ax10 =2x4x5
=24 cm® —mﬂT =8cm’ — 240 m? m =40 m®
3 o 2
= Va + Vv, =244+8=32c’ ,
V= Vi+ Vg =240 +40 =280 m




1 b) Find the volume of composite (6-9) Page :50
figures.
Draw line(s) to show how you decomposed the figure. N EVE R

What is the volume of the figure?
VB=LXWXH 7. . RGIVEf

6. 5ft _5x2x2
|2 = 20 ft?

T ft

3t 3

4

2n 2t 2qp2t

=2x23x3 =2x2x3
= 12ft =12 f°

V=V,+ Vo+ Vo=12+20 + 12 = 44 ft°

V=Vy+ Vo4 V=125 + 150 + 150 = 425 in’

2cm

8. STEM Connection An ocean engineer is
designing an underwater robot. The robot
will have two pieces like the one shown.
What is the volume of the robot?

5cm

4 cm

2em 6 cm

10 cm
Vi=LxWxH Ve=LxWxH
=2x6x5 =10x6x2
=60 cn? = 120 cm?®

Volume of one piece is =\ + V= 60 + 120 = 180 cn?

Since the Robot is made up of 2 identical pieces like this.

So total volume of the Robot is = 2 x 180 = 360 cnt

9. A sign company made this letier using
rectangular prisms. Each prism is 12 inches
by 4 inches by 4 inches. What is the volume

of the letter? Explain.
Volume of each prism is

Since the given letter consists of 3 identical prism.

So the volume of the letter is = 3 x 192 = 576 in®



2 a) Compare two decimals to the Work Together Page :76
thousandths place using place value.

Compare the weights of these bags.

ones tenths  hundredths thousandths

3 2 8 1

3|19 3.281kg 3.9kg
3281 @ 29 9 tenths is more than 2 tenths

2 a) Compare two decimals to the (1-9) Page :77

thousandths place using place value.

Write >, <, or = in each () to make a true comparison.
You can use a place-value chart to help.

1. 7790 @ 87 2. 1.021 @ 1.095
3. 6.55(>)566 4. 99(5)0.99
5 34 @ 3.4 6. 2563 @ 2.573

For exercises 7-9, use the cost of each school supply.

y B |2

Pens Penclls Highlighters

7. Do the pencils or the highlighters cost more?

147 <« 1.90 9 tenths is more than 4 tenths

Hence highlighters cost more

8. Write a comparison statement for the cost of the pens and

the pencils.
1.15 < 147

9. Which school supply is the most expensive? Which school
supply is the least expensive? Explain how you know.
Highlighters are most expensive and Pens are least expensive as 9 tenths is more than 4 tenths and more than

1 tenths.
1.90 > 147 > 1.15




2 (b+c) Read and write decimals to (1-12) Page :73

thousandths using standard
formexpanded form, and word form.

What is the word form of the decimal?

1. 82
Eight and two tenths

3. 082
Eighty two hundredths

2. 8.02

Eight and two hundredths

4. 0.082

Eighty two thousandths

What is the standard form of the decimal?

5. 09 + 0.03 + 0.007
0.937

7. 54 0.01+ 0.009
5.019

6. 20 + 0.7 + 0.08 + 0.006

20.786
4 .. 5
8.7+ 35 *+ 7000
7.405

What is each decimal in standard form?
What is each decimal in expanded form?

9. ninety-three and

six thousandths
Standard form : 93.006

Expanded form: 90 + 3 + 0.006
or
90+3+_6

1000
11. two hundred twelve and

fifteen thousandths
Standard form: 212.015

Expanded form: 200 + 10 + 2 + 0.01 + 0.005

or
200+10+2+__1 _+ _ 5
100 1000

10. three and eight hundred

forty-six thousandths
Standard form: 3.846

Expanded form: 3 + 0.8 + 0.04 + 0.006
or
3+ 8 +_ 4 +_6
100 100 1000
12. seven hundred fifty-one

thousandths
Standard form: 0.751

Expanded form: 0.7 + 0.05 + 0.001 MI TA}{ES
Lt are proot
that you

are
'RYING



(b+c) Read and write decimals to (13-15) Page :74
thousandths using standard
formexpanded form, and word form.

13. STEM Connection The Andromeda galaxy is
2.537 million light years from Earth. How can you
write this decimal number in expanded form and
in word form?

Expanded form : 2 + 0.5 + 0.03 + 0.007

or
2+5 +3 +_ 7
10 100 1000

Word form : Two and five hundred thirty seven thousandths

14. Kole wrote the decimal 34.821 in word form as thirty-four eight
hundred twenty-one thousandths. Is he correct? Explain why
or why not.

No he is not correct, He forgot to add "and" after thirty-four

15. Extend Your Thinking Write the word forms of 321,578 and

321.578. What is the same? Explain why those similarities exist.

Both have three hundred twenty one because both have the digits 321 in either the thousands period or ones
period. Both have five hundred seventy eight because both have the digits 578in either the ones period or in the
decimal positions.

Use strategies to subtract decimals & | (1,2,5-8) Page :121
Explain the strategy used to subtract
decimals.

Decompose by place value to find the difference.

1. 857 —24 2. 773 —51
857 —2= 6.57 773—-5= 2.73
6.57 —04= 517 2.73 —01= 263

BS/—24= 6.17 773 =51= 263



3 Use strategies to subtract decimals & | (1,2,5-8) Page :121
Explain the strategy used to subtract
decimals.
What is the difference? Show your work.
5. 36.33 — 32.29 = 6. 4856 —18.21=
36.33 48.56
—32.29 —18.21
04.04 30.35
7. 710 —6.02 = 8 2550 —1149 =
17.10 25.50
—06.02 —11.49
11 08 14.01
3 Use strategies to subtract decimals & | 13 Page :129
Explain the strategy used to subtract
decimals.
13. Decompose by place value 1o
subtract. Show your worlk
50 570-2=3.70

570 — 2.08 =

362

3.70 - 0.08 = 3.62

4 Fluently multiply multi-digit whole 16

numbers using the standard algorithm.
- Use an area model and partial
products to multiply multi-digit whole
numbers

-Use partial products to help multiply
multi-digit factors.

Page :167

16. Fill in the area model and use
partial products to find 53 X 37

| oot

30

| 7

| 50 a
1500 | ' 90
1350 | 21

53 x 37 =

1961

1500
350

T 21

1961




4 Fluently multiply multi-digit whole (1-8) Page :149
numbers using the standard algorithm.
- Use an area model and partial
products to multiply multi-digit whole
numbers
-Use partial products to help multiply
multi-digit factors.
Complete the area model. Then solve to find the product.
1 00 + 50 + 4 2 400 20 +1
. :'-! 800 40 2
& 600 300 24
421 x 52 = 20000 + 1000 + 50 + 800 + 40 + 2
154 x 36 = 3000 +1500 + 600 + 120 + 300 + 24 =21892
- 5544
What is the product? Use area models to solve.
3. 15xX24=_360 4. 28X 132= 3696
20 4 4 100 =+13@ 4 2 Zggg
201 2000 | 600 40 800
200 4o/ 200 40 B0 [ 200 | 6 20
100 + 16
40 * —_—
+20 3696

5. 33X 78 = 2574

Do it using area model as above

6. 72X 225= 16200

Do it using area model as above

Write the multiplication equation based on the area model.
Then solve to find the product.

7 200 4+10+8 8. 800 + 10 +6
20| 4000 200|160 g0l 24000 |[600 Be6O

L -+
2l 1600 80 |64 2| 1200 30 |18

4000 + 1600 + 200 + 160 + 80 + 64 = 6104
218 x 28 = 6104

24000 + 1200 + 600 + 360 + 30 + 18 = 26208
416 x 63 = 26208



Fluently multiply multi-digit whole (1-6) Page :153
numbers using the standard algorithm.
- Use an area model and partial
products to multiply multi-digit whole
numbers

-Use partial products to help multiply
multi-digit factors.

Find the unknown partial products. Then find the product.

1. 325 - 104
X 13 X 28
21,000 300x70 32 4x8
1,400 20x70 800 100x8
350 5x70 12000 100x20
900. 300 x 3 +] 80 4x20
60 20x3 2912
- 15 5x3
23725

What is the product? Use partial products to solve.

3. 17 4. 24
X 86 X 129
800 10x80 2000 20x100
560 7x80 05 50%2
42 T7x6 ~+ 180 iOng
36 44X
1462 3096
S. 36 6. 222
X 93 X 58
30 x 90 10000 200 x50
2700 2% 1000 20 x50
5406x90 100 2x50
-+ 90 30x3 1600 200x8
18 6x3 + 160 20x8
16 2x8
3348 12876

STRESS...
JUST DO

[é{CMHW'




a) Use decimal grids to help represent
and solve multiplication equations
involving decimals..

(1-3)

Page :183

Write an equation and use a decimal grid to help you solve.

Laura pours 0.08 liter of milk into her tea
each day. How much milk does Laura use

In her tea II"I 7 days

' 0.08 x 7 = 0.56 Liters

Jason buys 0.9 pound of cabbage. The

grocery store charges iD.EGpuund_
How much will Jason pay for the cabbage?

Tonya cuts 0.4 meter of ribbon for each gift she wraps. She

0.9 x 0.60 = 0.540 pound
or

0.54 pound

wraps 6 gifts. How much ribbon does Tonya use?

0.4 x 6 = 2.4 meter

a) Use decimal grids to help represent
and solve multiplication equations
involving decimals..

15

Page :201

15.

David rides 0.3 miEEEEI*y’tEl 0.3 x5 = 1.5 mil
O X9 =1.0 miles

school. Which model shows how

far he rides in 5 days? (Lesson 6-3)
L]
A-| 1 —r
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5 b) Understand a variety of strategies to| (3-7) Page :197

solve multiplication equations
involving decimals.

3. bottie holds the same amount. 4. Rebecca cut these ribbons to the

How much water can these bottles same length. How much ribbon
hold? did Rebecca use(in a7
0 86 m
o %L
%8
.88 m

5. Experts recommend that people 6. A pitcher has a capacity of

have 4.7 grams of potassium¢per) 3.9 liters. A cooler has a capacity
day. Last week Marcus averaged 9.2ffimes\greater. What is the
09 m: s much potassium as the capacity of the cooler?
recommendation. How much
potassium did Marcus average 3-5
each day last week? 1'6-1 xF.2
7
xed 7 8
Lo b o 3510
——— [ 4
. 35, % 8 Ll'h:'rs
Solve. Explain the strategy used to solve.
7. Kara has a bag of apples.pple weighs 0.4 pound on | 7
average. There are 17 apples in her bag. What is the total jwveight %a.4
of her apples? £-% Yound
5 b) Understand a variety of strategies to| (8,12) Page :200

solve multiplication equations
involving decimals.

8. Deshaun cuts 0.8 meter of tape

urpart of his project. There
are 7 parts to his project. How

much tape does Deshaun use? | CAN

fLesson b-0) 0.8 x 7 = 5.6 meter CIFYOU ¢
- THINK
VOUCAN




involving decimals.

b) Understand a variety of strategies to| (8,12) Page :200
solve multiplication equations

1
12. A recipe calls for 1.8 liters of milk. [e 8
If the recipe needs to be(tripled,)™ x3
how many liters of milk are 5.4 litevs

needed? [Lesson 68

solid figures.

Describe volume as an attribute of (1-7) Page :35 ‘

1. Which of these figures have volume? Justify your reasoning.

These two are 3-dimensional figures so it has volume

For the situation, would you measure the length, area.

or volume? Explain.
2. the amount of soil needed 1o
fill a flower pot

Volume as we need to fill a
3-dimensional flower pot

4. the amount of wall space
covered by a poster

Are_a as we need to cover a
2-dimensional wall space

6. the space inside a moving truck

Volume as we need to pack a
3-dimensional object

3. the distance of a bike ride
Length as distance is length

5. the amount of concrete needed
to fill a patio o
volume as concrete is filling a 3-
dimensional figure

7. the distance around a building

Length as distance around the building is
perimeter



7 Determine volume by counting unit
cubes that fill a solid with no gaps or
overlaps & Determine volume by
multiplying the number of unit cubes in
one layer by the number of layers that
fill a solid with no gaps or overlaps.

Page :39

Determine the volume of the figure.

s

Number of layers: | l

Mumber in each layer: L'i

Volume: H cubic unltsm
R_—J-”/

3.
Number of layers: 2.
Mumber in each iayEf

Volume: |1 cubic uni

f‘\_’ﬂré—ll

5. How can you determine the volume
of the box?

N oz Ly i
= Uré xl = L%l unids

What is the volume of the figure?

6.
H-2
wl- |
L-g
cubic units

Nz Gatxl

Z |0 tubic units

ﬁ I\IHILLIWI.
ACHIZVE IT

2

Number of layers: =
Number in each Ia:-.rer Lj
Volume: % cubic unlts

Number of layers: 1

Number in each layer: 6

'h"u{ume 2 [’1 cubic units

ﬁlﬂ:g
L
Log W:

cubic units

N = g5 “fl‘/\?ﬁ
- 3o cubisupids



Explain how to find the volume of (1-6) Page :43
rectangular prisms using formulas..

Label the dimensions and then determine the volume of the figure.

2.
’=€ .\J: G )lq x?.'l
v= 4B cubicunits V=72 cubicunits _ 3
What is the volume of the ? Tell which volume formula you
used and why. (V= L W giH
3. I 4.
.'
Sem 4inld
VoTxaxG o o 1 Nz JoxY
2em =70 Lm1’ e e = 120 ‘,rF’
6.
YzBxyxle
3
i, g = 320 [
Yz 45xy
- 180 ?ﬂ% L= 8ft W=
Explain how to find the volume of & Page :56

rectangular prisms using formulas..

9. Which eguation represents the
o ifferaent ways= to fimd the woalurme
of these figures?

Eeswaws F—T0

(A ax3x2=4x(3x2)
B. 3 X4)x2=4x3)+2
C. IX@XN=3x4x([3 X2
D. 3xd+2)=3x4+3x 2

& Larsits




8 Explain how to find the volume of
rectangular prisms using formulas..

11

Page :57

11. The volume of a rectangular prism
is 48 cubic inches. Which couild be
thhe dimensions of the prism?
Select all that apply. Lesson 2—3)

length = 24 nches

width = 1 inch
height = 2 inches
B. length = 6 inches
width = 6 inches
height = 4 inches

C. length = 16 inches

widcdth = 16 inches

height = 16 inches

length = 12 inches

width = 2 inches
height = 2 inches

= Lx\l = H
=34 01 p2 = L% 'In—"

Yo LewxH

12yl ) = chc!n'ln21

9 Extend the place value relationship to
decimal numbers &Explain the
relationship of place values in decimal
numbers.

(1-6)

Page :69

1. Which of the following 2. Which of the following
statements is true?

0.003 is 5 of 0.03

statements is true?

A. 0009 is ten times 0.09
0.09 is ten times 0.009

C. 0.09is 55 of 0.009

) 1
D. 9is 0 of 0.9

B.
C.
D.

1
003is 10 of 0.003

0.3 is ten times 0.003
3is ten times 0.03

Marcelia has $5.00, Niko has $0.50, and Benjamin has $0.05.
Use this information to complete each sentence.

. |
3. Benjamin has il 1] mes the money Niko has., J'05 = — xDsg
s

_l—

4. Marcella has the money Niko has.

Fotime
Complete each sentence.
5. $900is |0 timps $0.90.

6. $090is L {2,ps $9.00.
a

|o

EZ Joyro-5



Extend the place value relationship to | 13-15) Page :87
decimal numbers &Explain the
relationship of place values in decimal
numbers.

13. Which of the following statements
is true? (Lesson 2-2)

A. 0002 is 10 times 0.02
B. 002 is —— of 0.002

0
) o.o2 is 10 imes 0.002
B, 2= W)- of O.2
14. Complete the sentence. (Lesson 3-2)
7is _|O 4ipes  OZ

1S. Complete the sentence. (Lesson 3-2)

)

0.0S is — timey ©O.S.

[ O 3
Use rounding strategies to round (1-10) Page :83
decimals.

What is each decimal rounded to the nearest|whole number mber?] & 7!\I_I_ g

You can use a number line or place value. our

PRga VEMS

1. 7839 ~ 73 2. 407 > 4
SOLUTIONS
3. 127 ™ |3 4. 1555 ™ |4 Cf

What is each decimal rounded to the(niéarest tenth?)

You can use a number line or place value.

5. 4289 = 41.9 6. 365 v 3.7

7.1612 ~, |g.| B. 9817 = 943:1



10

Use rounding strategies to round
decimals.

(1-10)

Page :83

9. Danica rounded a number to the(nearest tenth)to get 14.7.

What number could she have(rounde§ Yo get this answer?

473 o 1469

10. Which statements are true?
The decimal 43.678 rounded to the nearest tenth is 43.6.
The decimal 43.678 rounded to the nearest tenth is 43.7.

A.

D.

The decimal 43.678 rounded to the nearest hundredth

is 43.68.

The decimal 43.678 rounded to the nearest hundredth

is 43.67.

10

Use rounding strategies to round
decimals.

(11-13)

Page :84

11. The masses of five different dogs

are shown(Round )each mass to
the neares‘(_vihole number)

228kg 254«9 271«9 258kg

l?:

5

12. STEM Connection The mass of the sun takes up
about 99.86% of the mass of our solar system.

What is 99.8€founded}to thd nearest tenth?.

13. Which of the following numbers arefcloser to 1007 Which are

99.86 — 99.9

closer to 99?7

99.03 99.87 9949 99.27 9972

N2 J d
a9 joo HY

J

|O

S8 )}

267 kg




11 Estimate sums and differences of (10-13) Page :96
decimals.

10. The path around a lake is part stone and part dirt.

(Aboudhow long is the path around the lake?

Eshimade 5%-9 +(07.2
4
~ 59 + |07 = [66 m

11. Marcus's family is driving 354.3 miles to his grandmother’s
house. They have driven 2097 miles /Aboutihow many more
miles does Marcus's family have left to drives . 4. 7 dup et

3A54.3 -109.7
~ A5Y —J1o = Ly miles
12. The winner of a skateboarding competition scored 87.83 points.
The second-place skateboarder scored 81,50 points.(Abouthow
mpoints did the winner score than the second-place
skateboarder? Lsfinate 7.%5 — Bl.50
2 B8 —B2 = & Palnts

13. Aaron has 1.3 meters of red yarn and 1.65 meters of purple yamn.

Aaron says he has 2.95 meters of yarn. Is his answer

reasonable? Explain. yes as he has about 1 meter red yarn and 2 meter
purple yarn. so the estimate is 1+2=3 which is very
close to 2.95.

11 Estimate sums and differences of 6 Page :128
decimals.

6. Wesley drove 81.23 miles before Qle23 o Bl
lunch and 49.49 miles after lunch.

~ 9
each number to the ud.ug U

nearestiwhole nu to

(éstimate)of the total number of

miles Wesley drove. fesson 4-1)

D | + 49 = |30 mies




12

Represent addition of decimals using
decimal grids & Represent addition of
tenths and hundredths

11

Page :102

11. Wnte the addition equation represented by

the decimal grids.
0-59 +0.%7 = ['46

12

Represent addition of decimals using
decimal grids & Represent addition of
tenths and hundredths

Page :128

FJ. Look at the decimal grids.

Compiete the addition eqguation

thhat is represented by the
decimal grids. [Lesson 22

07 +0:53 == (4123

13

Represent subtraction of decimals less
than 1 containing hundredths.

(2-4)

Page :113

What is the difference? Use the decimal grid to solve.

1. 07—01= D6

3. 054 —-038= 0.:+|6

2. 009—002=

D.a7

4 025—0N1N = DoLL[




13 Represent subtraction of decimals less | 10 Page :128
than 1 containing hundredths.

10. Use the decimal grid to solve

0.31-0.07 = d. pessan a5 0.%)
— 0=07]
P
I a-24
-

What is the value of d7
-ﬂz Ol 1"1

14 Write a power of 10 as a multiplication | (1-4,13) Page :137
expression with factors of 10.

Write the exponential form as a multiplication expression.

1. 10" - laxlax|oxlo 2 10 - loxId

3. 10* - loxio x\0 4. 10° - (0xIDxIDklgx|0k |0

13. Rachel finds the value of 10° as shown. Do you agree with her
solution? Tell why:. Not Aam:

10°=10X5=50 |¢ =10riox(oxI0pID = 100500

14 Write a power of 10 as a multiplication | 8 Page :166
expression with factors of 10.

8. Which expression aor value |s
equivalent to 10'? Lesson 5.5

A. 1,000 C. 0xX10x 10 x10

B. 10x 4 D. 104+10+10+10




15 Estimate products of multi-digit factors| (1-4) Page :145
to determine if calculations are

reasonable.
Estimate the product.
1. 643 X 1B 2. 325 X 62
~ 400 x20 = ]20040 7~ 300 x 6o = /%000
3. 438B x 27 4. 572 x 49
N Yap x3o z 13000 ~ E£pa x50 - 30000
15 Estimate products of multi-digit factors| 15 Page :167
to determine if calculations are
reasonable.

15. Which equation represents the

best estimate for 367 X 29?7
(Lesson 5-3 \’I’ J:

Yoo ¥ 30
A. 300 xX 20 = 6,000
B. 300 X 30 =9,000
C. 400 x 20 = 8,000

(D. 400 x 30 = 12,000

16 Multiply using an algorithm.. (1-4) Page :157

What is the product?

t G 32
1. 327 2 543
X 6 X B
(962 L1 4y
b | | 2
3. 1,931 4. 3462
X 5 X 4
3655 3848



17

Use patterns to multiply a decimal by a
power of 10...

(1-4)

Page :175

Write the multiplication expression using factors of 10. Then, find

the value.

1. 36X 10°
A60.0 & 3Zbo

3. 48 x10°

LRone-o
a] g

HRuo0

7.2 X 10°
72@0.0 or )JQ0

1.9 x 107
ldo.© 0or |Gg

17

Use patterns to multiply a decimal by a
power of 10...

(5,10)

Page :200

5. Which is equivalent 1o 7.6 x 1077

Leszan &-1) - 7%@0.0 ar 76Q0

A. 76
B. 760

D. 76,000

10. Which expressions are equivalent

to 3,4007 Choose all that apply.

(Loesson 610

A. 034 X110 - 3L|
B. 034 X10° - 340
C. 34x10° - 3yp

(B 34x 10D = 3400
(E. _:;ZXKYJ - Lyoa v

F. 34X10° - 3Ynoo

you're

AMAZING

just the way

YOU AR5
"X




18

Use generalizations to determine the
placement of digits in a product.

(4-11) Page :193

What is the product? Use patterns to solve.

4. 45 X 17 = 765 5. 32x14= 448
45 X 1.7 = /6.5 32 xX14=448
45 X 017 = 7-45 3-2:-:1.4=g.r_.,8

6. 16 X 89 = 1424 7. 61x22= |3y2
16x89=J42.4 61 x 22=1342
16 x089=[Yy-24 6IX 22= 3.!11

8. 96 x55= G1Ro 9. 9x42= 79%
96 x55= L1B.0 19X 42 =798
96 X 55h=528n 19x 42 = 1.9%

10. 67 x 34= 2275 1. 82 x67= 549y
67X 34=217.8 82x67=049.4
67x34=71,78 B2x67=54-5}

18 Use generalizations to determine the | 7 Page : 200
placement of digits in a product.
7. Find the missing products,

fLesson 6-5

23x89= 2047
23 X 8.9=2047
23%XB9=20:47

‘D0
%It -



19 Use patterns to determine the (11-13) Page : 210
quotient when dividing by a multiple of
10..

11. There are 24,000 quarters in rolls of 40 quarters/each] How

many(rolls of quartersiare there? .
! 2 2%o0p =@ = Goo

*

Aﬂbmcr

12. Error Analysis Drew wants to solve 12,000 <+ 20 by starting
with this basic fact: 12 + 2 = 6. Drew then uses patterns to find a
quotient of 60. Is Drew correct? If not, what mistake did he

ke? rq
o 1272 =6 Drew iy ipeorrect
(1e =20 = &
(oo 2o = 60

2600216 =406

13. STEM Connection A building has 20 fioors.
The building has a total floor area of 40,000 square feet

What is the area of Explain.
= @o 00g ~I) ~

22000 Syr S
19 Use patterns to determine the 12 Page : 238
quotient when dividing by a multiple of
10..

12. There are 18,000 envelopes in
packs of 60.(How many packs)of
envelopes are there? jLessan 7.9

(8po9 -6y

— 200 Packs

VAVNAVAVA

BELIEVE
N

YOURSELF

nuAuNUNY



20 Use the relationship between (5-8) Page : 217
multiplication and division to
determine the quotient when dividing
by a two-digit divisor

Solve for the unknown.

5 396 <+=12=n 6. 448 =16 =5
n x 12 =396 s X 16 = 448
n= 133 5-2%
1. 312+52=m B. 533 - 41=a
m X 52 = 312 a X 41=533
Mz=g Az|3
20 Use the relationship between 7 Page : 238

multiplication and division to
determine the quotient when dividing
by a two-digit divisor

1. Write a multiplication equation
you could use to solve 480 <+ 12.
Wwhat is the solution?

Lesson 7-3 qu:-lleI

4%o 1D xn - 4Bo

= 120 <—(Iop12) el niv

360
“IZos~(n)  (erioriors: DREAM it
14¢ BELIEVE it
Tl o (e ACHIEVE it

|20

Answer
— .'19<—\C|2)

Qo0
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